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Ualgedl 8w 2.

B34 @ R 3 ualedl »su x Bl/saws 9.
212l, Malel L oLy wdi Hieellexdl »su = (18 — x) [BHl/sals 21

yals~il [Rauul odi Hizrelledl »su = (18 + x) [3Hl/sals el

N ldR 24
Uetleril 14l 6% wdl Adldl AHY = —— = g sdls
U
L% UHISL Hetlerdl (Rl %l dlldl AHY = g7 sAls
naiel Huladl w2,
24 24 _
18—x 18+x

24 (18 +x)—24 (18 —x) = (18 —x) (18 +x)

Sox?+48x—-324 = 0
(Balld yotdl Gualdl S,

- 2 48 + 48 +
_ 48i‘/428 +1296 _ 48 _2\/3600 _ 82 60 _ ¢ mmal 54

uid, x 2 Udledl U Sladl R S8 s s, udl, olly x = —54 A 2AoRldi, x = 6 |
2], Ualerl nsu 6 BHl/sas .

AU 4.3
1. A 2ua [gaid uHlsani ol asd i dl yelasi-l fayl sadl :
) 2x>-7x+3=0 (i) 2x>+x—-4=0
(i) 4x> + 43x +3 =0 (V)22 +x+4=0
2. U8 1L ud [gaid Axlsasl ofley [gaid Yol Gualol 531 Hadl,

3. AlaAL wHlseAL ol Al

1 1 11

Py Bl v R S R
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10.

11.

WML Ul ol ad udaidl GHaAl (adMi) @rd i ¢yl 5 ay ugdldl GHRAL rdsl

NN

AW = 69, dl iRl GHR AL

1
3
25 Al sULHL Astelol Al 2 {0l -l ULl 30 V. % drl oURIdHL 2 vl ay
2l AL 3 OL8L UL HOAL Eled, dl Ml ARSI 210 UL Sld. dBl i o [Anasi Hada
oL 2Ll

s Aoty Wl [@Aseld 1w d-dl Al ougel el 60 e ay 9. %l Hidl ougy, -l ou
sl 30 Hlex a4 ¢id dl, vid-dl elogd-l 2y Uikl

6 AvUAAL A9l dslad 180 €. sl Avdldl aol HIEl dvul 5di § 28I 9. ola Al
L4l
s 2ot sl Bl 360 (Bl 2id st 9. % ddl Beu 5 [BHljsals Ay $ld dl, 2ued ¥ Hdr

-~

sl dd 1 5ALs 2490 AHU AL 9. dl 2l »¢u L.

YAl 6 Ao s we 9% sALSHL 28 28] @Rl A3 9. M2l AL A9 28] GRal M2 el

QUAALOL 0L Sl 10 SAlsl 9L AHY A 9. 6id 0L gIAL 25l GRALAL AAI-HAIN AHY
AL

s Bl 2 HYR A 619ellR A2 132 (B3l vidz stual Bl g sl 1 sals 0l 1Y &
9. (A2l 229l U Glell ealrl AHY UMD AL dl.) o 38Ul 2l A9 B8, HlMl 2l
AR B sl 11 [Blfsars ay ¢l dl oid audl-l U221 3w Al

6] ARUAL AASOUAL AN 468 H12 ©. o duell WRMAMAAL dsiad 24 Hl €l dl, 6l AluxL
ol iiel doitsS 2l

4.5 ol A3y

NN e

1AL [AARHL di % 5 [gald uMlswL ax? + bx + ¢ = 0 L ollw

o

b +yb? ~dac

x= =5 8.
» o\ NN -b 2_ ~ =b 2_ ~
R, b= dac >0 dl, 2unei 6 [z ol — + Vb . dac 3 = - Vb ; 4ac 5
a a

X N —b
%, b>’—4ac=0 dl, x=— £0,
2a

wald, x = =2 waal x = =2
X 2a 2a

.aa -b
24, A5 ax? + bx + ¢ = 0 Al ol ofly 5, .

1], Ul sl wslal 5 2L [Aseudl [ad AMlswL ax? + bx + ¢ = 0 <l oid ardlas ofly

AHLA 69,
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% b2 — dac < 0 dl vidl 515 airdlas Avar AL 1A, FL A9l B2 — dac A, el 2 [@seun
204 [gald AHlsReL 515 ardlas ofly AL 1.

b — 4ac lgald A58 ax? + by + ¢ = 0 <l ofly drdlas © % Ale d 55l sdl Sl
p2— 4ac 1 lgaid AxlsReil [Adas sy 8.

0] (g AHSW ax? + bx +c = 0 W2
@)
(ii) % b2— 4ac = 0 dl, 6L QH ARdlas ofly 1A,
(iii) A b2— 4ac < 0 dl, 516 Aralas ol - wa.
All, UL 52dls BeleWAL AHDHL.

=

A b2— dac > 0 d, 6 [H2a ardlas olly o,
n

Gelg2nl 16 ¢ [gand AH{ls8 202 — 4x + 3 = 0 ~ll [Adus Hl 2t d-il wRell ol a3y sl s

G54 : A [gald A0 a =2, b= -4, c =3 W2 ax? + bx + ¢ = 0 UsR ©, e, [Adas
B —dac=(-4Y - (4x2x3)=16-24=-8<0

1], 2 [gald AHlseA 515 ardlas ofley asy <l

Belgal 17 ¢ 13 Hlex cadon 315 dqousiz ol Al UL 215 [Big 215 aioidl idl dd
aoudd 8 5 ol i o{ludl vis -l old AAlbigyl A A B 210 odd slesdl disdl-l

-~

Bldell dglad 7 H{le $id. 9 L wsd 7 ol gL, dl oinl slesell s2d g2 Aledl douddl ASH 7

=N

B5a @ Adl uay wusla ot (il 2usla 4.4.)

q12L 5 P aididld %370 e 6. 1l 5 il sies B o

dz x 4l, wald BP = x 4l ¢d, aistawel oid stesdl »idz-dl N
dsldd = AP — BP (94l BP — AP) = 7 4l

1¢l, AP = (x + 7) 4l

¢d, AB el dlauel, AB = 13 4l P
ZAPB = 90° (347)
¢d, AP? + PB? = AB? (wlaatolizaL UYL y2el) 215l 4.4

S+ 7+ X2 =132

sox?2 4 14x +49 + x2 =169

s2x2+ 14x - 120=10

2], aivdld s1es B ol 2id v 3 adlswl 2 + 7o — 60 = 0 o AHHA 2 9.

el ol [gaid alseudl ofly ardlds €l dl, altdig i 455l 539 AsA o, 2L wsy O

Y ~

534 d olal Aldl [Qaas L [ s302.
[Qdas b2 — dac =7 — 4 x 1 x (=60) =289 > 0

219l, U [gald AHlsaAL 6 ol drdlas olly © A uel odlladdl A/l u el
adladld A 6.
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(gad a¥lsaRL x2 + 7x — 60 = 0 < [geid Aotell Bsadi,

X =

~7+280 _ -7%17
2 2

MM, x =5 Yl —12 W4,
Uid, x Ml 2 5125 B a2 ddR dlael, d e % gld g e, x = —12 4 g8
B Su. Yl x =5

2ilefl, ML uR aletdl 1 Ad douadl W@ 5 wdl dd ses B oAl vidR 5 {l e s1es A Al
2ldz 12 l gl

N

Gelsawl 18« As{lsam 3x2 — 2x + % =0 L [Adas wEl d uedl wxlseiAl ofley a3u 458l 3.

N

A d ddlds ¢ld dl qadl.

@gﬁtwéT,a=3,b=—2,c=%

well, [@dus b2— dac = (22 —4 x 3 x % —4_4=0
1], U [gald w501l ol ofloy arlis 2 AL 9.

-b -b
2a’° 2a

c 2 2 c 1 1 A
o{lo HAld =, = Hld 3, T ©.
KLY 4.4

1. 1A 2uudal (gaid qHlsexAl oflol 23U AL ol dH ardlas olly €ld dl d L e
() 2x2—3x+5=0 (i) 3x2—43x+4=0
(iii) 2¢> — 6x + 3 =0

2. ~AlAAl (gaid ulsmdl ofly A3 Sl dl k4 Hed Al
()22 +hkx+3=0 (i) kx (x —2) + 6 =0

3. %l doud, ugous sl oMell el 2 assn 800 HI2 ¢l Adl doiza Aisualdl siAiadl
AsA €9 7 ol dMIRL B ‘U HL €l dl, dril doits A uglons Hadl.

4. 6L Boliedl GHRHAL A0l 20 ad 9. 4 ad uddl dx-dl Gy salddl Avaiii-l sz (adHi)
48 edl. 9 20 uRRAML 251 © 7 % €l dl, ddsil sr-l Gur L

5. o<l uRM 80 3l 2 &5 400 1 €1y, ddl doiAiRA eolladl tirtiadicg A 8 7 %l d Uusd
Sl dl d-l dois A udlous kL.

4.6 ARIY

2L USAHL R {12l Yelel oA suL
1. a b, cdRelds Avpll 2 g # 0 Hie Ad x | [gald w35 ax® + by + ¢ = 0 UL A,
2. R ac® + b+ ¢ =08 dl ardlds Aval o [gaid A5 ax® + by + ¢ = 0 o s olly

s, [gald elguel ax? + bx + ¢ Al 4l 2 [gaud ASW ax® + bx + ¢ = 0~ oly
AU S,
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3.0 % AU ax® + bx + ¢, a £ 0 A AL AUl ARSI €3 suldl aslat, dl [Bad
AHl5WL ax® + bx + ¢ = 0 -l ofley €35 Aduad Yt g1 4 Hadl asla.,
4. yeiadl oistiaalel Adsdl Guaial s34 uRL [gaid aslsidl G dadl as.

5. adldeus ¢ oad wdlsW ax? + bx + ¢ = 0 Al olly ———— adly uq,
b>—4ac 20
6. [gad aHls0L ax? + bx + ¢ =0 Hi
() A B2 —dac > 0 dl, 6 [G2 ardlas ofly Ha.
(i) %L b*— dac = 0 dl, 6L AHIA dRdlas ofle wa.
(iii) % 52— dac < 0 dl, didlds ofles AL Hal.

alAs Al

afees seusiil Gsdi-dl Astupll Hodd wHlsWA 2R 52 oled Yo Ul AdIA
AL 5l BSB. (UsWL 3 Al BelgwAl 11, 13, 19 244 UsWL 4 Al Gelgwll 10, 11,
12 oil.)
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5.1 urdlas

dd A AlssA <l el 5, usladl s axqall, Rl sadl uwiedall, waysnl (B,
HsLOAL SLSL UReAL BIRLL, MielAd 2 Ul Sid (pine cone) UL §dd AR s [AlHd dus

AAAR 8.

8 2UURL ALKEL AL viqeiadil 2Addl S2ells dRls ASHL 2450 ial Sedls Beleeil »Uud 6.

@)

(1)

(i)

(1v)

Aetit AlsIl M2 22w 53 A sl M2 dsdl
uaeoll «d. dedl A3pilddAl HiAs uou T 8000
2 uedl wld Al MRS wou arIRl T 500 «ssl
B, d-l T 4l Wl wour uaM, dly, gdla, .. ad
254 8000, 8500, 9000, ... Sl

s M0l waRaidl doud dladl Gu dis
2suvil 2 Al wedl oy 9. (il 2usla 5.1.) el
A& waladl dousd 45 A4l ©. dhael 2@
dsel uddl, oflon, siloa, ... 8Hi wallRail (i)
dols i, 45, 43, 41, 39, 37, 35, 33, 31 A,

2usld 5.1

SIS oA AloIHL 3 %4 g2 3 Al % ol U 9. T 8000l sl (T HL) uLsdl

64 3, 6, 9 v 12 auA 2d 253 10,000, 12,500, 15,625 244 19,531.25 2.

1, 2, 3, ... 2ls¥ dollSHl ARUHL sy dollS-l ARAUAL Aval 2si 12, 22 33, . 8,

(%>l usla 5.2.)
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2usld 5.2
v)  aslar 2w d-dl yoll 1 addl edl QU del oleenmi T 100 45 8 24 usdl 4 e3s Al

-~

dMl T 50 GHUL 53 ©. d-l uedl, ol o, Al w=Hzad d-dl ol (3 ul)
% AsH 100, 150, 200, 250, ... edl,

(vi) AUl 5 g UaH HEA UgHr sal Hie ulusa el dAdi-l UAs Adl g oflo 24
LRl es WEA s %l AAAi g UL B (Al 2ugl 5.3). HHll dl 5, 51 Aug
Yy wiHg -, dl udan, ofla, Ao, ..., 921 HEAl e AAdidl Al dval sisH,
1,1,2,3,5, 8 .

@w %@m @w T
S S S S S B S B

2usld 5.3

()]

[o<]

GUAL BelewNML Rl s2dls due %S Al bl seadlsul 2uuRl s aslal ¢l 5

~

youwHl uenl s1S 2un Aval GHIL ugld ue Hadl wsda ©. Sl A AvAL Al ol

-~

Ul oflo SealsHl d s(Hs vl 4ol @38 492 Fd weua 9.

L USRAML WS gL YRAoUHL UeHl vAa Aval GHRAEl sioudl ue HA 9, Adl is
artesll 220 s3el 2wl 2 uel Sy 3 A 7 4 ue w2 sl ueldl wral 34l A ikl as
e Vi sl GuAlol sedls ALHeL Ul Bsa Haaal 539,

52 uuid2 Al :

A2 20 Avaiiiedl aigl u [Qu 52
G 1,2,3,4, ..

G) 100, 70, 40, 10, ...

(i) —3,-2,-1,0, ...
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iv) 3,3,3,3, ...
V) —1.0,-1.5,-2.0, 2.5, ...
YL UE 825 Avdld UE s3I,
Guadl wEll 215 ue >utd i dl usld ue dd avil asal ? o e, dl sdl Ad 7 sel s
dle 5 (AL GualoL 530 dH d s3l asl.
lAl, ULl vddls s3I 2 [Run avilat:
(i) |l UAs g, deil 2wl yedl 1 ay .
(i) |l UAS e, dl 2104l Yedl 30 i €.
(iii) Hi UASs ue HOddl d«l 29101 ugHl 1 GHRL.
(iv) ¥i Ucds ue 3 & auld 835 Ue Haadl d-il 10l uedi 0 GHA (3, duidl 0 oue 5).
(v) |l Us ug Haddl d-ll 2101 ugHi -0.5 GHIL (Mald, duizl 0.5 oue 52U.)
Busil AElML 20U %Y 5 ULs e Haddl d-l 2L uedl SIS [Rld dval GRaml 2ud
9. vl 2l Agl W2 sdl wstd 3 2 ULl AHId2 A8l (Arithmetic Progression 2124l A.P.)
ol €9,
A4, FH MUY YE [Adl Uds ug, 20+ YeHl [Al2d dvar GHR] Hadl sty ddl
Avgi-dl algl ¥ quidr A6l .
2§l [ Hvad AHIdR AL 2AHIY dSldd sSqud 9. e AvL 3, d 4, AL Yl
Y ¢l as o.
Aletl, U AHidR Al uan ued g, ol Ued a,, .. 7 Ul ued g 4y euldlal A
AHA, dsladn d ad ealdlal el auiar 48l o, a,, a; ..., a, W2
a,—a, =ay;—a,=..=a,—a, =d
AHIdR 2L Sedls Ak Gelenl {1 uael © -
(a) A5 WouHl AR AcuMi s ¢l Gloal sedls [Qenelidl Glaud (Asdlmi) 147,
148, 149, ..., 157 ©.
(b) SIS A AU HSAAL 5 AHSAL YAdd duHisdl addl e il
(Rl Al@uA4l) —3.1, =3.0, —2.9, —2.8, —2.7, —2.6, —2.5 .
(€) T 1000 U AN 5 2si-l 83 clril Ul Y5l ole (T i) otsl Wl 84 950, 900,
850, 800, ..., 50 €.
(d) 515 wouHi 19l 12 qiRRAL uaH s3 2Udd [[engliad (3 1) 2Auidl A5 Sl 54
200, 250, 300, 350, ..., 750 ©.
(e) % uAs A T 50l cAd AU dl 10 HEAML 98d oAl 541 (T ML) 8 Hid-L
»ld 50, 100, 150, 200, 250, 300, 350, 400, 450, 500 Al
Gua-il wlEl Al Hie AHIdR AR B, 2 ANl dHIRL BUR a2UA dlS 1Al Hid 8.
dd oS sl 9L 3,
UM YE a W WM dSldd d Adl, a, a + d, a + 2d, a + 3d, ... H4Hia2 6] gaid
&9, 1 AHidR AGld cuus a3y sdau 8.
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248 Al 3 Gul Belewll (a) 4l (e) i uesdl Aval [2d (finite) ©. 20l AHIdR
el 2w (finite) AMidR 2Rl sdaid. Aol 28 Aot & 21 UAS AMidR felHl 2ildu e
9. vl Qe ua Gerswl (i) 4l (v) Hidl 215 uel AHidR el A el el el dd
Uedd AHid2 A6l (Infinite Arithmetic Progression) 58414, 0l yidz Al ilax ue -l
.

~

gd, s AR Al wmaal seell yeady HlSdl-l %32 Wd? o uan ue qRid yd 97

N
N

5 ML A dstdddl nRstRl yrdl 97 il S asl 5 L ol wlddl, dam ue g e
AMIA dsldd d ol alld &ld d %331 ©.

Belewl dIs UUAM UE @ = 6 2 A dsldd d = 3 ¢l ddl duid el
6,9, 12, 15, ..., 6.
M g = 6 2 M dsldd d = — 3 ¢ld ddl AHidR 2wl
6,3, 0, -3, ..., 6.
2L % 3d, B,
a=—7,d=—2, A ¥uldz Al —7, -9, —11,— 13, ...
a=1.0,d=0.1, A A4id2 8.l 1.0, 1.1, 1.2, 1.3, ...

1

a=0,d= 1%, QUL AHIdR 2.l 0, 1%, 3,4.6, ...

a=2,d=0, U YHId= Al 2, 2,2, 2, ...

M, A A d HUA Sl dl q1id ARl avil asi, d-el [Qudld wEa e g sl
A7 Hald, B dud Avai-l wgl utd did dl di sél w5l 5 d s AuidR Sl 8 i d
20l g 2 Wl wsL? UAH ue g lanel, d ASsASYl dvil asid. 2uuEl enelal ¢l §,
SUS ugul A0 AvAl GRFL ugld ue Hadl asid. d GHAL olle SUS uRL uenial AL vesdl
ougollsl sl o Mol 93, 2ald, 2 2d Hid ue AHIdR A8l 12 AHIA ld ASH.
Belelwl dils Avaipii-l el
6,9, 12, 15, ..., "2
a,—a;, = 9-6=3,
a,—a, = 12-9 =3,
a;—a; =15-12 =3
el 510 uRL 6l s[5 ueldl dslad UAs [Aseuml 3 €9, 2uel, 2ud ue AHIdR 2Rl
UE 8. dd MAM UE @ = 6 i UM dsldd d = 3 9.
vl A1gl
6,3,0, -3, ..., W2
a,—a, = 3-6 =-3,
a;—a, = 0-3 =-3,
a,—ay; = -3-0=-3
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L% WAHEL, L URL s AHIdR 2l 9. ded MAM UE 6 i AL dsldd -3 6.
s Ad, AHidR 880 a,, a,, ... a, 12, a2 g, 2 SdsH ko THL A £ HL e S, dl
d=a, —a,

U AR AR0HL o W4l UAS a, — a;. ay — ay. ay — ay ... ARl 32 el
miel S1S wel sl Bud diadl yaln 9.

1, 1,2,3,5, ... 2 AEAL A58 duiAl 2l 515 url ol s[5 ug a2l dslad Al
A2l e, d AMid ALl [l

w8l Il 5, 6, 3, 0, -3, ... AHIdR ARIHL 4 Waal 2048l 3 HiYl 6 <l olsousl 53,
¢l 3 6 idl 3 -l oleonsl. 2l d ibdl (k+ 1) 4 uenial ki ue-l oleoisl scl s,
ugl ald (k+ 1) o e -l 53 L S,

AL, UUBL S2dls BELERRL glL L Aseu-dl Ay e 53,

S —%, o I UM UE g 2 AUMIL dsldd d Uil

|~

Gelg20l 1 @ ¥Hidr el %

Y cad] g 3 g L 3
@3c1.2»{el,a—2,d— > =1

| =

~\ N

2 AL 3, % 2UURL AL SISBL 5, WA UEL AHIdR ARl 8, Al 515 uaL 6 s[Ms ug-n
asldd gL d AHL asla.
Belsael 2 ¢ «{lAdmial 59 vl gl AHid 2Ll 97 % d AHId 2Ll €l dl dedl Ul 6L ug @il :
G) 4,10, 16, 22, ... G) 1,—-1,-3,-5, ...
(i) —2,2,-2,2,-2, ... (v) 1,1,1,2,2,2,3,3,3, ...
Gia : (@) 2, a;-a,=10-4 =6
a,—a, = 16-10=6
a,—a; =22-16=6

ald, a, , |, — a, $HAUl WA 8 B,

0], 20U ALl ALEL AHIAR 2R(L oild €9 A AHI dSldd d = 6 .

U8l ALs13] dd2 9l 5, il % dAS A0 YR AL,

ugdldl 6L ug : 22 + 6 =28 2+ 28 + 6 = 34

@ a,—a,=-1-1==2
ay—a,=-3—-(-1)=-3+1=-2
ag—ay,=-5-(-3)=-5+3=-2

ald, , @, , | —a, SRl AHA 8 8.

0], 2UUE AvUlAl ALEL AR 2Ll oirld €9 dul AHIL dsldd d = -2 ©.

U8l ALs13] dd2 9l 5, il % dAS A0 YR AL,
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uedldl 6l ug 1 -5 + (=2) = =7 A -7 + (=2) = -9
(i) a,—a, =2-(2)=2+2=4

a,—a,=-2 -2=-4
WH, a,— a, # a; — a,. 2Wl, i Aqvasl ael Axidar Aeill oiiadl el
) ay—a;,=1-1=0

ay;—a,=1-1=0

a,—a,=2-1=1
bté[, a,—a, = a;—da, ‘{ic\t, a,—a, #a,—das.
2012, U AvAll gl AHIdR Rl otriadl Ayl

ALY 5.1

12 2una Rafauidl 5O Rafaxl qvaiedl gl AHid 2Rl oA 2 547?

()  esild oig; uan BBetdlex w2 T 15 2 ugdldl ariuHl ucls Barle: we z 8 9.

() OUSIRUL WA Al UHIRL; gal Slecl-l YU gll €2 duid Aasi-l oisl wd gal-il %

®LOL Gl8IR 518 €.
(i) uAs Hleatl viiesd ole s sAl vigdl W2 ARl vRl; Mad Hlerdl T 150 24
ugdlel uls H{lex €16 T 50 UHIGL aHdl oy 9.

(V) 8 % il allis Asgla eell A3xid-l 54 T 10000 H3e €1, dl 82 afl vildlHl %L adl
2,

FUR UUH UE @ il AU dsldd d Al Hedl 1A WEl $ld U AHidR ARl MaH AR
ug oMl :
Q) a=10,d=10 () a=-2,d=0

@) a=4,d=-3 ) a=-1.d= 3
V) a=-125d=-025
A2 200d AHIdR 2RI WS, UUH YE 2 AL dsldd WL

i 3,1,-1,-3, .. G -5-1,3,7, ..
.. 1 5 9 13 .
(]ll) g, g, g, ?, (IV) 0.6, 1.7, 2.8, 3.9,

Al 59 20l 1uHid 28l 97 %l d AHIdR AR oAld dl UM dsldd d A usslHl
SR YE Uil :

7

. .. 5
Q) 2,48, 16, ... @) 2.3.3 3.

(i) —1.2,-3.2,-52,-7.2, .. (v) — 10, -6, -2, 2, ...
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V) 3,3+42,3+242,3+342,.. (vi)y 0.2,0.22, 0.222, 0.2222, ...

1 1 1 1

(Vil) 05_49_83 _129 oo (Vm) _5’_5’_5’_5’ e

(ix) 1,3,9,27, .. x) a, 2a, 3a, 4a, ...
xi) a, a® a’, a*, ... xi) V2, 8, V18, 32, ...
(xiii) V3, V6, 9, V12, ... (xiv) 12, 32, 52, 72, ..

xv) 12, 52, 72, 73, ...
53 uHidR Alld n 4 ue
LAl UYL (Aol 5140 U GeleRMl 2uud Hiledl ML wdl AL 215 s HIS 2R 52 9

A Myfsd Wi 9 d Geswidl 53 AR s A wa3vudHl WS T 8000 A uldl ad
2 500 il 5281 (Acdet dURL) Ul s8] Al 9. uiAuL a¥ d-l HURS uouR Sedl ¢al?

2L Lol Edl, ol af dl MRS wouR sedl ¢ d RSl

oflost Al WoUR T (8000 + 500) = T 8500 wil. U % Id, Uudl o, Ul i YA ay
wolRe{l MRl Aonadl |2 2oL Qi HURLS waur-l 25441 T 500 GHIL wsLA.

214, o Al Hadl wauR = T (8500 + 500)
=% (8000 + 500 + 500)
=% (8000 + 2 x 500)
=3 [8000 + (3 — 1) x 500] (o ad w2)
=% 9000
el af Hodl WU = 2 (9000 + 500)
=% (8000 + 500 + 500 + 500)
=% (8000 + 3 x 500)
=% [8000 + (4 — 1) x 500] (A2 ad w2)
=% 9500
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Sa UURL AL UHAAL BUULRL UM%l HIS sedls Gelsell dadl,

Gews@L 10

~ y BC?
CD L AB. al6d sl 5, vl
B4 :  AACD~AABC
ael, % = i—]é
2wyl AC2=AB - AD
21 % 3d, ABCD ~ABAC
ael, % = %
2wyl BC2=BA - BD

agl, (1) 2+ (2) uzdl,

BC2  BA-BD

AC2 ~ AB-AD

BD

AD '

BD

AD
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ousld 6.48 Hl, ZACB = 90° i+

(MAA 6.7)

(Aol UHAU, FHL ZQ = 90°)

(RaAL u:ell) (1)
(2ua 9.) (2)

[(1) 244 (2) u2dl] (3)

(AL y2l)

(L w2l)

(Guz (3)4i WlBid £4.)
(o660 2L534dl)

(2530 BsivieL 1434 euoll)
)

(AL 2l

A

D B

2usld 6.48

(1)

(MAx 6.7)

(@)



alda

Gews2el 11 @ s [Ruell gladd sedld 2Udl 2d oledl 8 5 ol d-dl 1Al 94 glauael 2.5
Hlez g2 2 2 drll Buadl 8941 w3l-dl 6 3{lex GlA s ou 288, [RuRelHl dous szittil,A

G5 : WA 3, AB (M0l © 214 CA R 8. 214 A 6l 8. (%21 2usld 6.49.)
BC = 2.5 {22 v CA = 6 Hlex

I OLRAUAL UHU YRyl
AB? = BC? + CA?

6 #le:
= (2.5 + (6)
= 42.25
qal, AB =6.5
2, [HAWAHL dousS 6.5 Hl 9. B 2542 C
Gelg28l 12 : 2UsR 6.50 4i, A AD L BC dl alid 215ld 6.49
53 5, AB? + CD?>= BD? + AC? C
Bsd : A ADC udll,
AC2=AD? + CD? (Ul¥&I204 UHA) (1) D
A ADB u22l,
N N B A
AB?=AD? + BD? (U141l UHY) )
(2) il (1) olle S, sl 6.50
AB? — AC? = BD? - CD?
Yl AB? + CD? = BD? + AC?
B
Geld2ml 13 : vRll A sleMel &l dal [Bisia
ABC 4l BL 2 CM H=ouall 9. albid 31 3,
4 (BL? + CM?) = 5BC? M
B5d : BL 24 CM 3l AABC ~{l ®epousil 8 dal
ZA =90° (il 2usla 6.51.) [
= C L A
A ABC w24, 2usla 6.51
BC? = AB? + AC? (Mol UHY )
A ABL 434,
BI? = AL?+ AB? (UiMeolRY UHA )
AC N . .
DT BL? = (T) + AB? (L2 AC < H=l6ig ¢9.)
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Gisia

2
29l BI2 = % + AB?
29l 4BL? =AC>+4AB? )
A CMA v24l

CM? = AC? + AM?

2
el CM? = AC? + (%j (M 3 AB+ saulig 8.)
AB?
YL CM?2 = AC? + -
2wyl 4 CM? = 4 AC? + AB? 3)
(2) 24 (3)L AL Adi, 4 (BL? + CM?) = 5 (AC? + AB?)
4 (BL? + CM?) = 5 BC? [(1) u2ell]

Beld0L 14 1 O v dotdiRd ABCD L el tlale
51§ (Bl ¢l (g1, 2usld 6.52), dl ulbid s 3,

OB? + OD?= OA? + OC? A D
G5 : P ul AB U2 21 Q 3 DC 4R 2Ud d 3d
O #igl PQ || BC ezl Preresing N o Q
¢d, PQ]J BC
dadl, PQ L AB 1 PQ L DC (B = 90° »i+ ZC= 90°) B C
adl,  ZBPQ =90° - ZCQP = 90° 2150 6.52
B, BPQC >3 APQD 6l duiziiaail 8. °
¢d, A OPB uz4l,

OB? = BP? + OP? (1)
2 % 3d, A OQD uzdl,

OD? = OQ*> + DQ? Q)
A OQC uxrdl,

0C? = 0Q*> + CQ? (3)
21 A OAP R4l

OA2 = AP? + OP2 4)

(1) 27 (2) Al A0 Adl,
OB? + OD* = BP?+ OP? + 0Q?+ DQ?
= CQ*+ OP2 + 0Q?*+ AP? (52 %, BP = CQ i+ DQ = AP)
= CQ*+ 0Q? + OP?+ AP?
= 0C? + 0A? [(3) 2t (4) udl]
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alda

1.

o A

10.

11.

AU 6.5

~

123 Busiadl ool st 9. d WSl sul Busien siesier Bisiel © d sl s % sles

-~

BLsiaL S, dsl sei-l dowsS gl
(i) 7 AL, 24 A4, 25 Al

(ii) 3 A, 8 AL, 6 Al

(iii) 50 AL, 80 AL, 100 A+l

(iv) 13 A4, 12 AL, 5 A8l

N ~

BLsial PQR ML ZP steviRll 8 i M 2L QR U< 2q, [big © & %l PM L QR. Aldd 52U &
PM2= QM - MR
N "\ D

gl 6.53 ui, Bisiat ABD ui ZA sievell 8
1 AC L BD. alsid 521 %

() AB’>=BC:BD
(i) AC>=BC-DC
(i) AD?>=BD - CD

Aulgolly stesta Bisil ABC |l ZC sleviell
B, wlid 53 3 AB?=2AC? »usld 6.53

Aulgouy BLsiat ABC 4 AC = BC. %l AB?=2AC? €1y, dl Aleid 521 5, ABC s12s181 Busial 6.
Aoy (1518 ABC il o1 2a 9. d-ll 835 A4 2l

AL 53 3, AHoUY AesIRLel oDl doli-l AU dsil [ASITAL QoliAL AU F2dl iy, 9,
sigld 6.54 Hi, O Bst ABC il 2iexd [6ig ©.

OD L BC, OE L AC »i1 OF 1 AB

G 53U 3,

i OA?+OB?+0C?-0D? - OE?— OF = AF? + BD? + CE2,
(i) AF?+BD?+ CE?=AE?+ CD?+ BF2.

10 ez dioll 215 [Ruwll el 8 +{lex GlA »uddl s

o 285 . (ARl A 94 elaal dlhael
RERIL

25ld 6.54

18 lex Gl [RRldel aicialdl Gurdl 94l 24 Hlex dioll diz-dl 215 941 %iddl 9. d dir-l
oflogl 941 s vilal A BNAAL 9. AiSalAl 2AHRA]L Sedl id Wldl dousalMl A dl di
doL @ ?

g (M1 28 [AHA HasHl Ga Rl 1000 [Bul/salsl asudl GI3 ©. v o A4, oily »is
R 20 o [anmasHl wlzs Rl 1200 BHlsasl i G . 1% sadls gl L

(AL sisoilonel seal g2 v ?
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Gisia

12.

13.

14.

15.

16.

17.

6 Hlex i 11 Hlex Gludel 6 dlddl Audd ol U uddl 9. 9 Alddldl -l 99
Qs vidR 12 H{l22 Sld dl d¥dl BURHL 8941 a2le R kL. A

ABC HlL ZC $l2vRll 8 i D 21 E s dxil suyail
CA il CB u-l [Blgail €. AUed 520 5,

AE? + BD?>= AB? + DE?

A Higl A ABC il 619 BC uz €3l det BC A D i il - D_I :
Ad B8 9 5 DB = 3CD (il 2usld 6.55.) AlGid 530 5,
25ld 6.55

2 AB*=2 AC?* +BC?

AHoUy (Asiel ABC L suy BC w D 24 [6lg © 5 %#l, BD = % BC. Auld s 3,

9 AD*= 17 AB?

AMOUY s ALBIA 53 5, 515 ULl olyedl ddidl 3 ARl A ddl 515 w8l dxdl adl-l 4
ABIL GRRUGAR. €.

1AL oL U (V) [Raul 52 2t 2SIl

AABC ¥i, AB =643 3+l AC = 12 A3l 244 BC = 6 A+l €, dl well B .......... :
(A) 120° (B) 60° (C) 90° (D) 45°

Y 6.6 (Asleus)*

P
25l 6.56 i, PS »1 APQR il ZQPR ~il
~ ~~ QS  PQ
[geuars 9. AUGLA 52U 5 IR~ PR
Q S R
25ld 6.56
A
wsld 6.5740, AABCHl BD L AC,
DM L BC 2l DN L AB 2y dad Big D s9 D N
AC 42 8, AlBid 53U 3,
() DM2=DN - MC
(i) DN?>=DM - AN C M B

2usla 6.57

* ) ey, ullaidl 2f@siel Al
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alda

A
3. 2ugla 6.5840, Bisiel ABC ui, ZABC > 90°
v AD L dotdd CB, Aot 53U 3.
AC? = AB? + BC?+ 2BC - BD
—
D B C

2usld 6.58
4. sl 6.5940, Bisie ABC 3i, ZABC < 90°
21 AD L BC 9. allid 530 5,
AC? = AB? + BC2- 2 BC - BD
a»uéﬁt 6.59

5. gl 6.60 3, AD 3 Bisial ABC L H=ou 6
1 AM L BC. bt $31 3,

.
@ AC?=AD?+BC-DM + (BZC)

32
(i) AB?=AD?—BC DM + (BZC)

i) AC?+AB2=2AD?+ 5 BC?

b{l§[?t 6.60
6. ABIA 5 5, AHIAROUY Agssladl [@saliAL qoli-l AL drll 6ugiinl ddiiql Al Fedl
Sl 69,
D
<N ~ ~ ~\ ~ A
7. 2ugld 6.614L, 6L AU AB i CD is6{losq ‘\
(Blg, P i O . lHd 53U 3, B
@) AAPC ~ADPB
() AP-PB=CP-DP 2usla 6.61
B
8. uslt 6.624i, 25 aduril 6 @Al AB i
CD (cdoudlal dl) ado-dl oliRsdl Lol A
sisollond P ol 92 9, AlBid 3 5, D
@) APAC ~APDB P C
@) PA-PB=PC:PD sl 6.62
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Gisia

10.

~

2§l 6.6340, D 3 Bisial ABC il suy BC A

R NNy D BD_AB N
uq [og © 5 %l o5 = <= AWl s

q [6
AD ¥ /BAC -l [gous €.

~ .

U

[

B D

Aol wielll Uenenl Huevdladl usdl 2l O, 2uslq 6.63
d-l Hiodl ussartl AMadl s wieil-l
Auiclel 1.8 H{lex Gl & 2 eldl-l Al 94l
Ul 2isd well-l uidl vz A4l dd (@R 8
5, “Woledl dd dR 3.6 Hle: © A Alnu-l
gsell Al welldl widlel dd »idr 2.4 3leR
9. g Hdl adul 5, (bl gsell isd
L) ddl iRl dot © dl, del sedl €1l e
sl © 7 (pusli 6.64 i) % d ekl 5
Al AL exedl viex v{A, dl 12 As=s vl 2050 6.64
AL 2isdl AHElay HHdr seq il ? )

6.7 ARIA

A

2L USUHL dH Al el ve sl ©

Lo A 2Us801 Hddl URg 2l He A se Sl d %33 el ddl ol suglasiia wuzy

gl 58 6.
2. o] 2534 il AU O U Udly iy -l

3.0 o (i) SIS GlgSIRAL AU VRUL AMLL €l 2 (i) Al 23U oAl QLRI AHIA

G, (22d 5, AMUHIBIHL 1) dl AHLA AVAML GUYUALL 6L 6LESIBL UHIY 69,

4. o 518 Bsterdl vis ouyn AnidR el i, ouslHl ol sugpiina [ Big2iml O,
6l AL ARLTRHL [Acuot A 6.

S U

9]

N
N

S

—

4.

6. %l 6l (ASSlML 23U vRUSIL AL €ld, dl 23U el ORIl AHIA €, dl 6

Busteil A43u Sl (vupu-Au3udl).

N N\

7. ol 6L (ASIR0ML, s (Asteil 6L Rl 2isi ofla (Bsiail 6 veuiia Al €, dl d

&
N NN N\

6 (SR AHIU 69 (biuy AHIUAL).

8. % 6L [LslelMl Hq3u oUg>IL AHUHRAML G1d, dl dHedl 23U VRIS AHIA S At dell

(L5180 413U 9, (Glolloll AH3UdL).
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alda

9.

10.
11.

12.

13.

g sl [Bsietl s vell ofl Blsiadl is veld A gl A 2 vRuplL %
ol A 2idold €l d AUUHIRIHL S1d, dL 6L BLSIEL 43U B (6Uvol AH3UdL)

6L AHIU PLSIRUIAL BA50TL 2RIdR dusil 23U clogilnl dLeiidsl 4ol Fedl €l 8,
A slesial Busiel stevpaudl BRilbigHial sel ur a8 lRdmi »id, di dasdl ol ds-l
Busteil 4o Brsiad due sl 443U iy 9.

stesiel Bl seidl qol ousl-l 6 oiogdiinl Qlidl AAUNL F2dl i 9 (WUARIRA
UHY).

A BLsaHl SIS s il Aol ollsl-l 6 ouogildL adldl AU Fedl €M, dl uddl
oL+l ALHAL VBRI SlevRll S,

A 6L siesiel Bisieli, siS s Bsiadl sel 2 51 s ol oflot Bisiadl sel 24 51
25 6y AHUHIUHL S1U L 6L BUSIBLL AHIYU O, 2l 515611 AHIUAL dZls ol aslat.
A USRWL 8ell BELSRBL 2 HI AL AHZUALAL GUHloL s34l Sld, dl Al w200 ol Eid.

alAs iy
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WH &H[A

QR0 IX | 2uud ollval 3, Axdadl 515 Bigd e salddl W2 2iued R dot Aiielsl
Al 32 Ul B, p-vizl S5 BigAl didA x-m vadl 5SS 58 B, x-vadl S8 BigAl vidA
P-AUH AL HY sE 0. x-Ha UAL SIS uRl [Blgdl AWM (x, 0) AWML A y-HaE UL SIS Rl
(Ble-l i (0, y) @3UHL €11 9.

7.1 wrdlas

UG S5 W WL 2UAVUA U YRR del Sl ddl waldl il el ¢d 1A ealdai
(Bleati [H3usl 530 2t Y-l uxel %dl : Big A4, 8), B(3, 9), C(3, 8), D(1, 6), E(1, 5), F(3, 3),
G(6, 3), H(8, 5), 1(8, 6), I(6, 8), K(6, 9), L(5, 8) < sHa: %dl L« A ad ol ¢d [Bigil
P(3.5, 7), Q (3, 6) -l R(4, 6) -l sHal: sl 2satell s Bsiar a0, aoll Big»ll X(5.5, 7),
Y(5, 6) 2 Z(6, 6) « 1 ML Bl vis Bsiel oidgl. 8d S(4, 5), T(4.5, 4) 24 U(5, 5
sHAU: AL Bl (BAsieL ool 2iddl S A [Big>il (0, 5) 2 (0, 6) A8 daL U - [Bigail (9, 5)
2 (9, 6) Al %L dH 54 Rist Hagl ?

aoll, dd WY 9 5, ax + by + ¢ =0 (a b ol s WA g <el) @3udl [gua 3
A58 UAMUA U [HZUBL Sl s vil HOL O, a8¥l USW 2 WL UL y = ax’ + bx + ¢
(a # 0) L uRady A3usil UAv AL Sl MUR dl AR [@As 2islazii-l oy la axeal
we s ofldilidle Gusel dls saml 2wl 9, d R olgdiRid-dl Gudlol s34 ol
venld sl A oAl Hesdl oflwalBld AMFAML Hee3u WA ©. L sR8L AHeBilq,
afifasazt, ©ozl, distan, qsui, sdl sai [l asiui euus Ad auaa 9.

2L USVUHL, UL FHAL AH UL Sl val 6 [Bigdil a2l idr wHdl ollvilyl 24
Ul AR [Blgaiiel il Bisierd astsa elidlel sl sudal o [Bigdid sl eivisd il
el (et sl (bigrl i ofl 2d el asid d-dl wel xen 5309,



alBd

72 YA

qual, 2uusl Al uRRAlAL [ 530 ¢

s A A el 2d B ydui 36 Bl A Gursi
15 (34l 2id 2udd 6. WvR HWL 4012 dH A8 A A
28 B a2 dr sol L 2l w817 Adl suusl As. i
uRRAlA il 7.040 saled uHEl uduui saldl s,
A ULARIRAAL UHUAL Gualdl 53] vidz-dl addl 3 asl,

gd, HIRL 5 ol [Bigl x-via U ddl ¢, dl sl
du-ll a2l vidr ol wslal? Gelsw dils ol [bigail
A (4, 0) 21 B (6, 0) al. »usla 724l [Bigal A 24 B
X-28 U 2ddl 9.

2l well dd S wsl 5, OA =4 2sH 211 OB = 6
2wsH B,

2efl, B el A YHld iz,

AB=0B-0A=6-4=23s4

we, a6 [Bigdl x-2g u wddl ¢ld, dl sl
AL AUl Q2 vidR ol asla.

gd, QIR 5 2UuRL 6 [Bigll p-vig U Al g 2uusl
audl azdl- »idz Hl wslat 7 wRl 5, [Bgpil C (0, 3) i
D (0, 8) y-ui& U 2ddl 9. d % Id 2048l Hadl asla 3,

CD =8 -3 =554 (9>l »usla 7.2.)

GaR
Y
B
15 (34
€ > X
A > S
Vo336l 0 W
2usld 7.1
Y
8+ D (0, 8)
7
6
5
4
3
2
1

< + E : - + ¥ }X
O 12 3/ 5 6™\

A 4,0 B(6,0)

25ld 7.2

gd, dd A ol C o 2id2 il ast ? (Gugl 7.240) OA =4 254 2l OC = 3 AsH dlal,

A ol C Yl 2id2 AC = 32442 =5 2154, 21 % UHIE dil B ¢l D 4l »id2 BD = 10 2154

qadl wsl.
gd, 2 UL Vel YR A Gl dal o [Gigall [@adlz

~ .

dl, 2 uusl o old a2l R Al wslu 7 ¢ ! suuel d

~ A

Hoddl HIZ UMgRiRd UHd-AL Gualol s31 aslal. A1dl, »udsl
25 Gelsel B,

sl 7.3 wi [Bigyll P (4, 6) 24 Q (6, 8) Hau
AWWHL 2l . 2L ol d2d 2idR ladl We suusl sdl
Ao WaARlAAL UHAAL Gualol s3lgl 7 2dl, 2uusl P ois
Q uigll x-»& U-l dot AsH PR 24 QS el aull,
P Higl QS A T Ml el QS uz-l dot el 2Uyl, R 24
S Al WH 2AsH (4, 0) 2 (6, 0) A M2, RS = 2 254,

auil, QS = 8 2154 i+ TS = PR = 6 isH.
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Y
sl Q (6, 8)
74
6+ T
s/

4. P4,06)
3+
2+
1.

€ —t—t . > X

Ol 12 3/45 6"

R (4, 0) $(6,0)

25ld 7.3



wH HH

214l, QT =2 2154 2l PT = RS =2 254,

S, WMAURAY UHAAL GUALdL 5l
R PQ* = PT?+ QT2

= 224+22=8

igl,  PQ = 2.2 uisH HA.

AAN-HAOL AWIHL el 6L (Bigll 92 2id2 2uusl 54l Ad Aadly ?

6L [Big2ll P (6, 4) il Q (=5, -3)l [ 2. (%21l 2usld 7.4.)

x-a uHll dot QS elRl. [big P il QS ur (deuddi..) doet PT w2l €kl d y-»18 + R
(Blea B . Y

i

8 +
74
64
STR (0, 4)
T ’ - P (6,4)
34
21
< > X
S (-5, 0)

-3t

Q-5-3 +

2u5ld 7.4
214l PT = 11 21541 214 QT = 7 254 (su w2 ?)

sl (BLSel PTQ HIZ UIMEIolRAAL MHAUAL BUdlol 52l »uued PQ = 112472 = 170
isH YL,

aldl, ¢d ULl SIS w6 [Bigdl P (x,, y,) i
Q (x,, »,) a2 »id2 Al x-218 UL det PR 244 QS

5w

215, Big, P il QS -l ciol iRdi 4 QS A Big T i QL )
wal 8. (il susli 7.5.) T

R _ _ o A

4l OR =7, 0§ =, »itel, RS =x,-x,= PT P(x,. 7,)

aoll, SQ =y,, ST=PR =y, 208, QT =y,-y,

©d, APTQ H12 UMARNRAUAL UHUAL GUALDL 5, AR

PQ? =PT2 + QT2 wdl. 9 RS
=(x, = x)*+ (0, =y
2usld 7.5
Q’tlgﬂ, PQ = \/(xz —x1)2+()’2 —Y1)2 .
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A8 53 3 2d dRAl el G, il UL AL L Aoy % Al w2 Bigil P(x,, )
2 Q (x,, p,) 42 ldr,
PQ = \/(xj _x|)2+(y2 —y|)2
2l vidUA 5¢ 9,
Y :

1. v s34, Big P (x, y)ei GBlg O (0, 0)dl 2idz OP = +x”+»" salldl usia.

2. 29, PQ =y —xp)?+(y )2 M8 vl agla (2 2 ?)

3. 2 AL 208 P dal Q A HaH AL ad 20l 8, uid dell 515 ual RalL 2 Yot vaid 9,
Gergel 1 : [Bigatl (3, 2), (-2, -3) 2l (2, 3) 218 Busial ot-iladt ? ot 8L, dl 22de Bisia-dl usiz il
B5a : 2t Bigyil P (3,2), Q (-2, -3) i R (2, 3) Hi2 »id2 PQ, QR 4= PR 2lltall Hi2 »idR3yoisl
Buylol 53

PQ = \/(3+2)2+(2+3)2 = \/52+52 = J50 =7.07 (¥123)

QR = J((2-22+(3-32 = Jc 92+ 62 = {52 =7.21 (2u2R)

PR= J3-22+2-32 = {2+ 1% = V2 = 141 (2123)
515 weL 6 =il Aol Ul 2oy ol doits sl AR dlaigl [Bigil P, Q il R Bustal 29l
aull, PQ? + PR2 = QR? ¢lalel wiuaiotiauAl ulanuHu-l @ uel sl asi 5, L P = 90°. =2
[(B15180 PQR a1 stesial [Bisiel .
Belsaw 2 : Bigdl A (1, 7), B (4, 2), C (=1, —1) 24 D (= 4, 4) 1 315 ARl RRUGIE & dx galdl,
B54 : A (1,7), B (4,2), C (=1, —1) %4 D (— 4, 4) 3 2uuai Big>l ®. ABCD AR™ & d sallddl
WAl 25 Rl A D 5 ARA-AL ol ouyL UM ElU Al d-L [Rseil uel AHIA €l B daHlAL
Gualal st ed,

AB= Ju-42+(7-2?2 = Jo+25 = 3
BC = Ju+ n24+1)? = {2549 = 34
CD = J1+ 42 41-4% = 0525 = 3
DA = |+ 42 +(7-47 = {259 = 3
BD = J4+42+2-47% = J64+4 = J&8

AB = BC = CD = DA i1 AC = BD délaiell agesiat ABCD{l 214 6llg>il A4l 6 24 d-l

[asell AC >t BD ugl dHid 8. uell, ABCD »i ol 2Ry 9.
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wH HH

asleus Gse @ U8l AU UYL dal 25 [@AseL AC Gur uHEL Al 2],
AD? + DC? = 34 + 34 = 68 = AC% 2l WHARIRUAL UHAAL Ucdld HAqAR ZD = 90° Ad. A
ALeSIRL 5 Feil ARA oL AHIA 1 2l Fell 18 VR 90° €ld o 2AIRA 8. {2 ABCD s ARA 9.

Gewsaml 3 ¢ 2usld 7.6 s adlvisul wedlaiisl

olieall said 8. (ML, ®dl 2w AL 2 10
A (3, 1), B(6,4) 21 C (8, 6) 2l U 6iddl . ?
ddl sedl Asl ol 5, d 25 % UL 6BAL © 7 dHIRL 8
N c N 7
Q -
G Hie 5129 salll. . C.}
B5e @ vidyeirAl Gualol sl gl wal .. 5
s MBS B
4
AB = \/(6—3)2+(4—1)2 = Jo+9 = JiIg =32 3 ﬁ
2
BC = 8- 6)2+(6-4)2 = J4+4 = 8 =22 ; A

AC= J8-321(6-1)2 = {25425 = {50 = 52 12 3456 78 910
el
AB + BC = 342 + 242 = 542 = AC
glaell, 2auel sl sl 5, Bigyllt A, B 24 C
AHW 9, el AALHL, MRl 2 SRR w5 %
SANHL 6L8L 69,

2usld 7.6

Belgal 4 : Big (x, y) 1 Bigail (7, 1) 2 (3, 5) dl A 2Hd O dl x 24 y 9231 Aol galdl.
B354 : wRA S P (x,y) i Bigall A (7, 1) 244 B (3, 5) &l a4i 2id 9,

UL AP = BP 2104 9.

12l AP2 = BP2 21y, Y
=7+ —1P = x=37+(y -5y 3:
X =My 49 +)7 -2y + 1 =x—6x + 9 +)>— 10y + 25 g' B 3,5)
xy=2 4]
NEEES SRR 31
2 il Aoik 9, 21
AlH vl il 3, wHlsw x -y =2 Al ) 17 A (7: Y
1AV L 9. dMIRL SRAAL 20UBHL oA uRe], 0 //2 34567 X
d¥ el 9L 5, [Blg A i B el quid vidl 2udd [Big /q:/}
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There is perhaps nothing which so occupies the
middle position of mathematics as trigonometry.
—J.F. Herbart (1890)
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oldledl UL slesiel BPisedl  seudl 53
astd. o 2 Bielredl Gl ardlas dAd s
oz [enel il asa ?

QA 5, 25 9153 ALl (Bl U Al dell
g+l 20l o8l 9. d A€l oflot (Bl
U dal Rl walul u el sdidl
g8l gl 9. 0 uRRAMME us il 8.241
oldledl MHIBL stesiel (BLsial oiddl ¢l ddl
saudl s31 As O, % dd oRldl €l 3,
Mlael s alsa sedl Glus u: oldl ©,
dl 2 i -eldl udlous el asell ?

s>usld 8.2
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3. HIAL 5, JRM Al s g sail Gl

-~

L 9. USIAUL WAL VUL oigAn s 9153

A=l
N "\

ol 9 v dsdl el s2al d vl Wil QA GB
WA AR wu B, ML egHd A asdl

Uidl UL drd % ER-il 6leIR 2id 9. ¢d

QIR 5, 9153 WU AL olged UAHAR s :

O&% ol a Big A W2 ed el _ﬂ.‘:::.' ...... Ftnannaaaaas I oF
Ml 2 Yoll ol w1e s g2l © AR
oigrt [6ig B el ugiall oy &, 9 di [Big
B #{lal [Biideiid aiHl asall ?

2usld 8.3

Guisa ol o uRRAARIML aBdww-dl 25w BusEadl snadl suflas ugltii-l
Gualalel id A Gl bl asd 9. 1A% Aot ‘Trigonometry’ 28 Als A6El, “Tri® (vied 3,
a8L), ‘Gon’ (2@ 3, 6l1%) 1 ‘metron’ (32d ¥, Hiu)«l Al oidd 8. wIWR dl [Asialald,
Bisieidl ool dal veuil a2l deitdl e 9. Wl auudl Bl u gda skl
Gedvt S[H 2 GlBElAML HOL . Rl AHUHL vlnuz2 BrsieFEladl Guaiol yedlel diiil
Wl UL, ViR AHAL WS Sl Sl 0% URL Al i olifasfasidl auRidl delBisll «dl
uglanil Bustalfla-dl Aseudizil ux suad €.

L USWHL UL 125l sl el agsieiil atani ds-dl ouogiia il (a9 22l
s, 2 An veul Wl Aslaladly gl sdal. L il [ ol veul w2
wel 530 astd 9. 9l ual 2uudl el viusll qul s5d agsien Yol o AlBHa avilel suusl 218l 0°
Al 90° Wurl vRuslAl Bstafidly opelidl wal craifad gL, duy sedls [Ale vpuasi
el Brsdla ot Hadlyy dar i dRlidi Aeilfid sedls [fewud eUufd sy, du-
sl Fslalfdly ey sds,

82 [safadl spial

[Qowor 8.141 dd (Ao wRRAlIHL steulqs d oindl

N ~\ ~ N e C
stesta [Buster (Al o0y,
adl, ugld 8.4 Ui il wRL seslal Hsia
N ¢ &
ABC dl. o 5
w> < =
2§l, ZCAB (2541 ZA) aysial . v A + Ada gﬁa%“
oy BC <l Rala [A9 2 Ul d ven A <l 0 9.

NN N . N r
MR dH vBlL A | 4l 6ilY (Opposite side) 3@1-‘2&. A wou A -l B
o0y AC $125l9 [(Asia-l $60 (Hypotenuse) 8 = 6l watHdl eusg
AB, ZA -l @l 9 Qdl, a4 e A il weldl ouy

25ld 8.4

(Adjacent side) $€l3l.

o
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2y 2L, 2l vel A L Ut vEll C ad@l dl elgiixdl C
Rala sledls s 9. (il 2usld 8.5.)
UGAL HIRAHL df ‘ARl Aseudl (A9l Hedn sul 8. N i
~ N ~ ~ ~ o e A ~ AN D S
ed UuBL sesel Bsiedl ol delBd  sedls  dLRldRA Ky =T
6’ Y
Ul 309 2 d oLl 2l Bistafdla il sdlal, =
~ ~ . ~ S A B
stestel [Bste ABCHU (g2l 2ugl 8.4.) vai A Hie-il wau ¢ A
o NN N A N
[staladly goinzl 2 udl euvalid s3 as 9 -l ousy
o ven ALl euy 25(d 8.5
ZA A sine = = - ¢ - BC 2
50 AC
A cosine < LA Al wadl ouy  ap
A Ul cosine = e = iC
ey MR A Al wddl sy pe
angenti = =
s viau A <l wadl suy  AB
1 58
ZA -\ cosecant = — = < = AC
ZA -l sine  vew A -l adl euy  BC
1 - 59l _AC

A Al secant =

ZA -l cosine v A+l wAl euy  AB

1 van Al wadl suy  ap

ZA - cot t = = =—
COMNSEN = A N tangent v A L Al owg ~ BC

@Hi&d A O\ng\er\l:l §3Hl er(tjé‘\-l. sin A, cos A, tan A, cosec A, sec A 4 cot A %CLQQ
aviiy 8. i L, 2l AR cosec A, sec A 2 cot A @5 sin A, cos A 2 tan A <
At ILRUTRL B

el dH L ULl S ASL 9L 5,

sinA cos A

cos A - cot A= sinA '’

2, stesiel Bseml 2wl agsiadl Bsiafdla oeidl, Biseril veusll dal sugiisl
dollsS azl-l doin eald 9.
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The first use of the idea of ‘sine’ in the way we use it today was
in the work Aryabhatiyam by Aryabhata, in C.E. 500.
Aryabhata used the word ardha-jya for the half-chord, which
was shortened to jya or jiva in due course. When the
Aryabhatiyam was translated into Arabic, the word jiva was

retained as it is. The word jiva was translated into sinus, which
means curve, when the Arabic version was translated into Latin.
Soon the word sinus, also used as sine, became common in

mathematical texts throughout Europe. An English Professor of "4 ﬂ_ﬂ
astronomy Edmund Gunter (C.E.1581—- C.E.1626), first used Aryabhata
the abbreviated notation ‘sirn’. C.E. 476 - 550

The origin of the terms ‘cosine’ and ‘fangent’ was much later. The cosine function arose from the
need to compute the sine of the complementary angle. Aryabhata called it kotijya. The name
cosinus originated with Edmund Gunter. In C.E.1674, the English Mathematician Sir Jonas
Moore first used the abbreviated notation ‘cos’.

Al s e L, el sin A AL GUAlDL eIl A L sine’ L ARHZY
SAML 2 9. sin A 2 sin 2l A <AL dRUSIR el sin 4 A el

A 53 dl drll 515 o 244 Al d % UHISL cos A 3 cos A A Q
<AL oRustz el ddl o A ol R HE W ud % veaes 53 c.
A5IA, '
P
g gl U8l siesia Bisial ABC L 58l AC uR [big P @l 591
2dl dotdd ol AC U s [Bg Q ddxl 2= AB uR dot PM
eldlal 2adl douda oy AB uR dot QN eldlx (i, 2usl 8.6) N M '_B' N

dl APAM i ZA Hie-l Bisiaidly oppiidRl 24 A CAB % ZA
we Bstafidly oplidl »adr A QAN ML ZA et Bistafdla 25(d 8.6
ARITRIML g iR Sld 7

Al B Hoadl AmMAd 0 Bseld HLas s 9 APAM 2 ACAB 33w & 7
USW-61L 2UUA AHZUALAL A () dle s2A 2 Rgld UHBL di A wst 9L 5, (Bisiee PAM
2w [BLsiel CAB A43U 6.

BUH, AUIU BLSIRLAL ORI UHISL Heq3U UYL AHUHIL E1d B,

214, Rl wid % - AP _MP g
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N ~ MP BC . N
Q —_— T — =
drl ul e AP AC sin A ML,
N ~ AM AB MP BC A N
o] = —_— = —_— T —— = o)
d % UHILL P ~C  cos A, M B tan A dOIR HY4l.

oewld B 3, APAM Hi ZA Mieql Bisialidla opidl »id ACAB 4l ZA -l
BrswaBidla il »is o 6.

-~

2L % UHIBL AR AsAl wsl 9L 5, A QAN Hi uRl sin A (dal 24 Bsiafidla opelidl)d yer
YL % HOL 9.

UL 2L viadlsdl e A B 5, 91 Weud HIY A 26 dl d ven e Fsialadly
eilmRll yealHi Lisigdl ougii-l dens ad 18 ulRad+ ad e,
A4 el AL 2 B (sin A), (cos A)? AORA 6led 2sisH sin? A, cos? A 313 @vilsl. uig
cosec A = (sin A)' # sim! A (¥ sin SdA A dAU V.) sin! A Al 22 gel A 9. drll 22l
U uedlel QAL 5309 2 % uHd Gusd [l 2t Brstafdly aeiidl 12 usL @loy usal.
Sedlsalr vell saladl Als ez 0 (dlel) uel GualaHl A 9.

U agsiel Wl 9 Biseldly ol elrviBid sal. A »iusl SIS s ol %ldl
€l9L L 9L oflo dpeiiRl el wslel 7 Aldl, A

o sesial Biser ABC Ml sin A = % S, dl 2l c
el 2 YUY 5 i—g = % 2ed %, Bisieidl oyl BC 24 3k

AC Al doidl aeiidr 1:3 . (g2l 2ugld 8.7.) dell 516
s Hel AvAL b MR % BC 66 k a9 dl AC 6R16R B
3k A, v A el oflo BrsiafHdla il slitan wie

248l Sl 61y AB il dous aliddl Ul dHel wiaaliRu, “gld 8.7
UHY dle 97 ALl ddl GuaEl sl AB -l deud
gLl
AB?=AC? - BC? = (3k)’ — (k)* = 8k* = (22 k)’
"2, AB=+22k
ddl 2uuRd AB =22k Ha (AB = —22 k34 <8 ?)
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- AB 22k 242

8d, cos A =

AC 3k 3

-~

L% UHIEL AR BRI A Hiedl e Bl opeiidl wer okl wsall.

=N

Al sies1L Brsiat, dieumi aioll oiog 58l €l sin A 2R cos A A Hed dRal 1 el 2
s, (519 [aan Ralaxl o d 1 e9.)

LAl Sedis Belswl wdl,

“\ 4 ~N ~\ o ~\ iy NN
Gelsa 1 o tan A= 5 14, dl ZA L w4 Brsiafidla deidzl el

Bie : Ay si2s8 AABC €121 (g1l »usld 8.8).

C
N A ~ NN 4
&d, 2L Aell2l ¢l $, tan A = Be _ 2
AB 3
HI2, % 519 U AqvAL kW12 BC = 4k ¢ld, dl AB =3k ik
&, WHALRLRAAL UHUAL BUULdL Sl
AC? = AB? + BC? = (4k)? + (3k)* = 25K
adl,  AC=5kHua. A T B
g, UL dH-{l vl HHLR obL o sl ottt dvla,
2usld 8.8
A=BC _ 2k _ 4
Sin C 5 3
AB 3k 3
COSA=ZE = 5¢ =3
3 . 1 3 - 1 ) -~ . 1 5
Hle, cot A= = —Z,cosecA— sinA 7 U sec A= A =3
Beldm 2 : dgsl B dal Q Hie sin B = sin Q €. Asid s 5 /B = £Q
Bie @ AL, U8 FHL sin B = sin Q S, il 6L 512518 AABC i1 APQR a2,
(%>l >usla 8.9.) P
\ = AC A
2l sin B = —=
3 .= FR
Ve, sin Q= PQ
C B R Q
aql, = =35
AB P susld 8.9
\ AC _ AB ~
Hle, PR - P0 — Kk (aR1) 1)
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